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QUESTION 1

What is a difference between a regular formula and an extended formula? 

A. A regular formula is required as an input to an extended formula. 

B. A regular formula does not allow conditional logic, and an extended formula does. 

C. A regular formula can only be used on a Number field, and an extended formula can be used on any field type. 

D. A regular formula allows a single input and output, and an extended formula allows for multiple inputs and outputs. 

Correct Answer: B 

 

QUESTION 2

A portal change has been requested to add two sections, and one of the sections should display collapsed. 

Given that the impacted portal is open in Portal Builder, which process(es) could be used? 

A. Only a user can determine which portal sections are collapsed. 

B. This scenario is not feasible because portal sections cannot collapse. 

C. Log-in as the system user in order to make the change. Select the Portal Sections library, place a 

check mark in the select box next to the two sections which are to be added, and click the Add To Portal button. For the
section that is to be displayed collapsed by default, in the Portal Layout View select the Collapsed By Default check box.
Select the Save button. 

D. Select the Portal Sections library, place a check mark in the select box next to the section which is to be added, and
click the Add To Portal button. Place a check mark next to the next section to be added, and click the Add To Portal
button. For the section that is to be displayed collapsed by default, in the Portal Layout View select the Collapsed By
Default check box. Select the Save button. 

Correct Answer: D 

 

QUESTION 3

A Retrieve Records task has its source set to the Start task, and the record to be retrieved is associated to the object of
the Start task by a temporary association. 

Which option in the From Records section should be used? 

A. Use it 

B. Use its Reference 

C. Use its Association 

D. Use any Associated BO from module ... of type ... 
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Correct Answer: D 

 

QUESTION 4

Which statement is true regarding a Query task? 

A. It can only access queries created by the system user. 

B. It can only access queries created by the user that created the workflow. 

C. It can only access queries listed under the My Reports tab of the report manager. 

D. It can only access queries listed under System Reports or the Community tab of the report manager. 

Correct Answer: D 

 

QUESTION 5

Which statement is true regarding a synchronous workflow that uses temporary data and is called using a call workflow
task in an asynchronous workflow? 

A. A synchronous workflow cannot be called from an asynchronous workflow. 

B. Since the synchronous workflow was called from an asynchronous workflow, the workflow will use permanent data. 

C. There is no user interacting with the data therefore there is no temporary data, and in this case the workflow will fail. 

D. A synchronous workflow cannot be called using a call workflow task; it can only be called from a state transition sub
action. 

Correct Answer: B 
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